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1. Express y as a Fourier series upto 2™ harmonics given the following values. (8] I
X 0 1 | 2 [ 3 4 5 |
|y 4 g | 15 | 7 6 2 1
2. Using Newton’s divided difference formula find f(3) and f(5) from the [7]%
following data. ‘
[ x 2 4 | 9 | 10 | |
y 4 56 .\ 711 \ 980 J |
3. Find aroot of the equation 3x =cos x + 1 correct to 4 decimal places. (7 "
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Fit an interpolating polynomial using Lagrange’s

and hence find y at x=3 given
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From the following table find the number of students who obtained
1)less than 45 marks ii)less than 75 marks.

l Marks

30-40

40-50 | 50-60

60-70 | 70-80 |

LNO. of students’

31

2 |

51

33

31|

Obtain the half range Fourier sine series of f(x)=

Obtain the Fourier series expansion
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of f(x) =x(2zr—x) in0<x<2m.

-¢ interpolation formula

Hence
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